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ovwTplvTplhwa that became nxmv while it was o%92a (the nwy),
is burned o»9a. If it became yynalknv, it is burned yina.

oYpvw and oo are only o»plytpnnivavinaln.

mvymbnmon are 3 in Sxwlkx whether the wpnnlira is
standing or not.

Although nnnalhwyn is »m whether the wrpnnliya is standing
or not, the oonon were v that it is only wrpnniyavimalng
o»p.

mMo2a is 3 whether the wpnnlia is standing or not (we wait
until the .52 develops aom).

If wnnllbxs falls out on mav, wnnlbxah»w isnavlhmT (in
order to make it known that it is wmnlyx) . qom of nav,
however, precedes 9o of wnnlx as Pnlynlraeibhin
OTP.

A 9 hasto bring a paap when heis . Although the nobn
was that he had to set aside aqoalbwlhy»7 (to purchase ayap
when the wrpnnlh»a is rebuilt [y»malhanna)), it isno longer
done, though the 73 will be 2»n aya9p when the wipnnlrais
rebuilt.

mnlma, thereis ovpwlhertp, therefore, if oneiswpn adpy,



and he disposes of it by throwing it into nonnlb>.

End of ypn 95 p99
End of opw noon



